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1 GND

ISG4042T1 TNET4042

VCC

(TI Pin 6) IOUT +

(TI Pin 3) IOUT -

(TI Pin 173) GENP(3)

(TI Pin 168) GENP(1)

(TI Pin 167) GENP(0)

(TI Pin 172) GENP(2)

(TI Pin 189) VIN-

(TI Pin 190) VIN+

(TI Pin 166) TAGCS

(TI Pin 20) AMP PD

VCC

7 5V_TX

3 TX_EN

24pf24pf30pf

2.7pf

2.7pf

7.5pf

7.5pf

4 TX_IN+

5 TX_IN-

30pf75
 Ω

75
 Ω

11 CLK

12 DATA

13 LD_EN

9 IF AGC
24K

50K 0.01µf

TUN_GNDTUN_GND
10  GND

TUN_GND

14  GND

TUN_GND

2 5V_TX 

1NF 0.1µf

TUN_GND

120nH

270nH

270nH

8 5V_RX

330µf

TUN_GND

10uH

270nH

270nH

16 IF_OUT-

15 IF_OUT+

6 LE2

330µf

330µf 330µf
+
-

+
-

+
-

+
-
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RES BW 300 KHz
VBW 100 KHz
SWP 20.0 msec

43.75 MHz SPAN 10.00 MHz
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REF = -15.00 dBm

43.75 MHz  SPAN 25 KHz

RES BW 1.0 KHz
VBW 1 KHz
SWP 275 msec
PNOISE @ 10 KHz
= 85 dBc/Hz
MKR ∆ = -54.71 dB
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REF = -22.00 dBm

RES BW 1.0 KHz
VBW 1 KHz
SWP 625 msec
PNOISE @ 100 KHz
= 109 dBc/Hz
MKR ∆ = -79.31 dB

43.75 MHz SPAN 250 KHz

0
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8))#�9�7��9����((�=����=��+75
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DATA N20: MSB

(R20: MSB)

C1: LSB

(C1: LSB)

N19

(R19)

N10

(R10)

N9

(R9) (R8)

C2

(C2)

LE
OR

LE

CLOCK
tCWL

tCS tCH tEWtCWH
tES

A����B
�'�@�����������$������$�,��������!�����&�����#����,��$�=�$���$���'
�'���������#��$��������!���������,��,C������!��$!�'
6'������������#��$�����"��#����'
�'��@���+���D7E����$���!�'
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��3  ��9.)�*�(����������(���� 25# �

��1 )�=.)�*�(����������(���� ���352 �

��� A��������(��:�'���>��
�-� �3 �7

��3 A��������(��:� �(+�
�-� #3 �7

��43 �(��:�8�(7��H�+�9� ��9 �3 �7

��41 �(��:�8�(7��H�+�9�)�= �3 �7

�0� �(��:����)��+�J��?(��'���>��
�-� �3 �7

�04 )��+�J��?(��8�(7��H�+�9 �3 �7
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3 3 3 3 3 3 3 3 3 # 3 3 3 3 3 3 3 # # 3 3 3

# 3 3 3 3 # 3 3 3 3 3 3 # 3 3 3 3 # 3 3 # 3

)', �',
��

6�

3 # 3 3 3 3 # 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3

# # 1 1 1 1 1 1 1 , , , , , , , , , , , 3 3

)', �',

�#
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35��

B =

A = N – 64 (B)

– ModN
64

N

64[ [
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A. tSENS  E. tSCKH

B. tSDAS  F. tSENH

C. tSDAH  G. tDATAH/tDATAL

D. tSCKL

D6 D5 D4 D3 D2 D1 D0

GA B C D E F

LD_TX
(Pin 6)

DATA
(Pin 12)
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(Pin 11)
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